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1 Canada, cool, children
2 Mlight @ leaf @ bread @ snowman () pear
3 A : Where are you from?

B : @ I'mfrom America. (2 I’m from Japan.
® I'mfromEngland. @ I’'m from Canada.
® I’'m from Brazil.

4 A : Where is your classroom?
B : It’s on the third floor.
5 I like spring.

It’s nice and warm.

Flowers are everywhere.

6 A : Excuse me. Where is ABC bookstore?

B : Over there. It’s between the bank and the post
office.

A : Thank you.

/ A : What season do you like?
B : I likefall. It’s cool. How about you?
A : I like winter. I can make a snowman.
8 @ It's black. @ It’s raining.
(® It’s Monday. @ It’s March 22nd.
(® It’s my birthday cake.
9 A : When is your birthday?
B : May 14th. | gota bag last year./ A : Oh, great!
10 1t’s too expensive.
11 A : May I help you?
B : Yes, please. How much is that toy helicopter?
A :1It's20dollars./B : OK. I'll take it.
12 (@ Can I have some water?
(@ Can | have some milk?
(@ Can | have some juice?
(4) Can | have some sandwiches?
(5) Can | have some chicken?
13 A : Mom, I’'m home. I’m hungry.
B : I’'m making spaghetti. \Wash your hands, first.
A OK
14 A : What does your father do?
B : @WHeistall. (2 Heisadoctor.
(® Heismyuncle. @ He is very handsome.
(® He has nice glasses.

e’ Al F1 29

1@full @fruit @ food @ pianist () France
2 Mbank @ museum () bookstore
@ post office (& police station
3 @pizza @bread () chicken
@ hospital  (5) spaghetti
4 (@ How muchiis it? @ How are you?
(3 When is your birthday? (@) Where are you from?
(5) What’s your name?
5 A : Where is the toy shop?
B : It’s on the fourth floor.
6 A : Excuse me. Is this Wall Street?

B : @ Yes, it’s mine. (2) No, you don’t.
(® It’s Wednesday. @ lamsorry. | can’t.
(® Sorry, | don’t know.

: Can you help me, please?

B : Sure, I can.

A : Where is the fire station?

B : It’s near the post office.

. Where is the bank?

B : It’s between the hospital and the school.
: Do you like summer, Nami?

B : No, I don’t. I like spring. How about you?

A : llike fall.

10 A : Ann, when is your birthday? / B : July fifth.
11 A : How much is this book?

B : It’s seven dollars.

A : OK. I'lltake it.
12 (D My brother is a doctror.

@ My mother is a teacher.

(® My father is a scientist.

@ My sister is a singer.

(® My uncle is a police officer.
13 @ Iwantablue umbrella,

@ | want to be a pilot.

@ I want hamburgers.

@ | want some flowers.

(® Can I have some water, please?
14 @ It’s time for bed.

@) It’s time for school.

®) It’stime for lunch.

@ It’s time for dinner.

®) It’stime for breakfast.

31
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1 tall, third, tired, thirsty
2 (Dfruit @ umbrella @ violin (@) chicken (&) egg
3 @singer @ cook (@ pilot

@ piano (& police officer
4 A : Where are you from?
@ I’'m from Canada.
@ I’m from ltaly.

B : @ I’m from Japan.
@ I’'m from China.
® I’'m from Vietnam.

5 A : Excuse me. Where is the bookstore? Is it on
the fifth floor?

B : No, itisn’t. It’s on the first floor.

6 @ Yes, I can. ®) Yes, | do.
@ Yes, itis. @ No, you don’t.
(% No, you are not.

/ A : Where is the police station?

B : Go straight and turn right at the corner.
It’s next to the bakery.

8 A : Oh, it’s very cold.

B : Look at the window.

It’s snowing. Let’s make a snowman.

A : OK.

9 A : How’s it going?

B : Not so good.

10 A : Thank you for your help.

B : @ No way. @) | don’t know.
(3 No problem. @ Pardon me.
() That’s too bad.

11 A : Jack, when is your birthday?
B : February 4th. I got a robot.

12 @ It’s Friday. @) Pardon me?
(3 How much is it? @ I’'m 12 years old.
(5 My name is Amy.

13 A : Can you come to my violin concert?

B : @ Sure. @ No, thanks.
@ Hereyouare. @ No, | don’t.
(® That’s right.

14 1t’s very hot today.
I’m thirsty. Can | have some orange juice?
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3 A : Where are you from?
B : I’m from Australia.
4 A : Hi, David. Where is your room?
B : It’s on the second floor.
How about you?
A : Oh, my room is on the second floor, too.
5 A : Do you like summer?
B : No, I don’t. I like winter. | can ski and skate.
6 @ bank @ hospital (@) bakery
@ post office (2 fire station
7 A : Excuse me. Where is the ABC restaurant?
B : (O Go straight. @ Yes, itis.
(® Just over there. (@) Turn left at the corner.
® Sorry, I don’t know.
: Where is the fire station?
B : Go straight and turn left at the bus stop.
It’s in front of the school.
9 @ Whattime isit? @ What day is it?
(3 What color is it? (4 What music do you like?
(5 What season do you like?
10 A : Hows it going?
B : (O Great.
(3 Pretty good.
(5 That’s too bad.
11 A : When is your piano concert?
B : May 15th.
12 @ How’sitgoing? (@ What day is it?
(3 What time is it? @ Where is it?
(5 What’s the date today?
13 A : How much is this bag?
B : 1t’s 20 dollars.
A : It’s too expensive. How much is that watch?
B : 1t’s 10 dollars.
A : OK. I'll take it.
14 A : Joon, what does your father do?
B : Heisapilot.
A : Wow, that’s good.

(@ Not bad.
@ Not so good.
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